30.0 17.5
17.5
i ‘. N
(N=40) 175 2550 175 2.5|. 300 150 [50]50]00
0.00.0
60.0
22.5 20.0 20.0
(%)
80 r
60.0
125

-251-




2.4 1.4
1.1 1.3

n=27) 24 n= 6) 14
n=29) 19 n=9) 12
n=17) 16 n=5) 0.8
n=23) 11 n=7) 13

2.

1.4
22.5

n= 6) 15 n=3) 1.0
n=24) 21 n=4) 1.2
n=12) 14 n=3) 10
n=3) 1.0 n=3) 1.0
n=1) 10 n=2) 10

n=1) 10

n=2) 10
n=2) 1.0 n=1) 50
n=5) 12 n=2) 225
n=1) 10

- 252 -




33.3

17
94.9
14 4 11.9

94.9 (n=36) 119

(n=29) (n=36) 333
(n=36) 14.4

(n=36) 112

(n=34) 8.8

(n=31) 6.8

(n=15) 18

8.4 1.0 2.6

- 253 -



53.1

23.6
N=40
531
23.6
22.4
712.5
25.0
‘ 1 (%)
(N=40) 250 725 zf
0.0 0.0
100 28.9

- 254 -



75.0

()

100 r

80 f

60

4t

975

97.5
87.5
65.0

875
750 !
65.0 N=40)

475
375

25 200 178

-255-



33.3
63.6

(%)
(n=33) 63.6 3.0
28.6
19.0 33.3
| |
(%)
(n=21) 19.0 33.3 19.0

0.0 0.0

- 256 -



10-1

75.0

10.0

12.5

125 2500

(N=40)

10-2

57.5

37.5

(N=40)

- 257 -



11

37.5

25.0

22.5

225

|
375

250

125

(N=40)

- 258 -



12

45.0 37.5
35.0

()
60

N=40)

- 2590 -



13

65.0
55.0 47.5

(%)
80

65.0 N=40)

- 260 -



14

- 261 -



- 262 -



15

90.0
77.5 72.5
10

(%)

- 263 -



16

57.5 57.5
52.5

()
60

40

20

- 264 -



17
52.5
15.0
12.5
20.8
| ‘/ |
| (%)
(N=40) 525 15.0 I2.5 75 | 100
00
375 250 0000 125 125
n= R
2038 54.2 125 0083 |42
n=24 ————00
2856 2856 00 00 143 143
n= 7 _
00 100.0 0000000000
n= 1
= T 1
= 125 50.0 250 00 125 0000
: !
n= 2 00 00 100.0 00000000
]
|
1
n= 1 00 1000 00 0.0 0.0 0000
—
n= 111 222 333 00 0.0 222 111
143 286 143 0000 286 143
n= 7) S — | =
I
00 00 100.0

n=

0.0 0.0 0|'0 0.0

- 265-



Q

42.5

(N=40)

n= 8
n=24
n=7

n=1

n=7)

n= 2

25.0

18

25.0

15.0

37.5

(%)

143 00 00 143

100.0 0.0 0.0 00 0.0 0.0 0.0

T 1
125 0000 (I).O 0.0

0.0 50.0 50.0 0000 éO 00
!
0.0 100.0 000000 bD 00
111 444 111 Oi%. 222 111
143 429 %_OEOO 28.6 143
00 50.0 50.0 0000 ?0 0.0

- 266 -



(N=40)

n= 8

n=24

n=7

n=1

n=7)

n= 2

45.0
17.5

29.2

| (%)

[ 1
125 OP 125 0000

]
0 50.0 50.0 00 0000 00
\ !
I 1
;0 0.0 0.0 00 0.0 00

444 111 00 111
429 143 00 143

I
;O 50.0

50.0 0000 ?O 00

- 267 -

0.0 0.0 0.0 0.0 0.0 0.0



G

40.0

25.0

(N=40)

n= 8

n=24

n=7)

n= 2

20.0
15.0
33.3
I (%)
200 400 150 50 |2.5 50| 125
625 00 o 125 125
00
333 458 42|42 @ 83
00
143 429 143 00 143 143
0.
100.0 0.0 0.0 0.0 00 00 00
T 1
250 375 250 00 125 0000
: T
I |
OP 50.0 50.0 00 00 90 00
| |
I 1
00 100.0 00 0.0 00 00
L00
444 111 111 00 111 111
] 1
143 429 00 143 00 143 143
I
00 50.0 500 00 00 00 00

- 268 -



16 19
16 50.0 22.5
16
— I
(N=40) 100 50.0 225 100 | 75
20
32.5 32.5
22.5
(%)
(N=40) 225 325 75 325 5.0

- 269 -



21

50.0
40.0

(%)

(N=40)

0.0 0000

- 270 -



22

87.5
72.5 65.0
60.0

(%)
100

875

-271-



23

52.5
35.0
35.0

(%)
60

525

-272-



24

- 273 -



